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B.Ed. Sem-3 Examination 
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Candidate's Seat No: 

[Max. Marks : 50 

z4.t. Raki. Act Ito 34.5641 lowit 

ttia41.41. Pittd. 241.;\1. cttil (311.R. 

41.41. 14.&c-14.41. &i i ctdut;1 (0) AA `4,14Ca 

1. z;st. 14.1.4R a91.(f1ci.1 461.R. 8 Itqq141. 40-1,icott. 

(A) 1/2 (B) 0 (C) 1/6 (D) 1 

2. -11.4-u tuttetpilz.441. D.101. 

(A) 30, 40, 50 (B) 1,2,3 (C) 16,18,20 (D) 50,51,52 

3. -t.t 30% =336 

(A) 112 (B) 1020 (A) 1120 (D) 11200 

4. 61.4..i.ulta?-41Ael. 2-Mai a, 1. 01. 

(A) nr(h+r) (B) 27tr(h+r) (C) r(h+r) (D) n(h+r) 

5. ct3[ zt.u.t.ti 26 27,11 co[ ctzp.). R.4,41. 0.

(A) 11 (B) 12 (C) 50 (D) 52 

6. 268A  9i1tt att ica. 0 .‘S, A== 

(A) 2 (B) 0 (C) 3 (D) 4 

7. Oa ( 2x ) 

3 ) 15 

(A) 90 (B) 10 (C) -10 (D) -90 

1— cos A _ 8. 
sin A 

(A) 
sin A 

(B) 
sin A 

1— cos A 1+ cos A 

(C) 
cos A 

(D) 
cos A 

1— cos A 1— cos A 

9. —4 , 3 , 15 , ( —14 ) 

5 7 16 \- 9 

(A) -
-1 

(B) - 2 
2 

(C) (D) 2 

PT-0 



292 
10.x - 1 p (x) = 2x + kx + z4cittct. k = 

(A) Arf + 2 (B) - (2 + V-2-) (C) - 2 + (D) 2 - Arf 

11. (-12) 3 + (7) 3 +(5)3 = 

(A) 1620 (B) -1620 

(C) 1260 (D) -1260 

12. 6t.w-Ls1. x3 - 6 x2 + 2 x -12 41 zl,h 

(A) - 6 (B) 6 (C) 3 (D) 12 

13. ZACD2;i. ABC 41 6abilta 0. LACD = 1100 LA = 60° a LB 

(A) 50° (B) 60° (C) 120° (D) 30° 

14.50 

(A) Q.A..& (B) (;‘t. (C)7{.% (D)

15.20,000 tt.R. cztrd z co[1-11. 10 za tt  Ntu.2a24.. 

(A) 2000 (B) 24,200 (C) 2400 (D) 4200 

16.   ctcti ti 41.1-A xyz 2R xyz 6tiv41.41. .Rca 

(A) xyz (B) 2xyz (C) 0 (D) 1 

17.4 att. ca 14.10 C1.-11. N1:116w41-11. •11,zu.  0. 

(A) 5 (B) 6 (C) 9 

18.-t tc ti. F = V = 5, att. cal4.0.2,timR.-0. 

(A) 8 (B) 10 (C) 12 

19.3,5,9,x W1t1 . ca X 1a4 ? 

(D) 7 

0141 ,1.1,41. 0. 

(D) 14 

(A) 6 (B) 10 (C) 15 (D) 20 

20. 5 tlat. tt 2 Attha. 3,017tR. 

(A) 5 :2 (B) 2:5 (C) 1:40 (D) 1:4 

21. 3x+2 - 

(C)1 + -2- 
3x 

(D) 
x+2 

3x 

(A) 2 (B) 3x 
 x 

22. (cosec - sin 0)(sec - cos 6)(tan - cot t9) =  

(A) 0 (B) 2 (C) -1 (D) 1 

23. &t&-a X- WI Y - z4.4tql. z,tiatett 

(A) (3,5) (B) (18,1) (C) (2,15) (D) (4,4) 



E 2-4-3- 3 

24.A (0, 0) B (3, 0), C (3, 4) z;i.  Dtista-ti NRAPt&za-tt. ut0. 

(A) 41-toti.cg (B) iatt 

(C) (D) 44 tvg 

25. tan 200 tan 25° tan 45° tan 65° tan 70° 41 = 

(A) -1 (B) 1 (C) 0 (D) 

26. 18 41 't 12 61:ztu.Scuutt tzdo-t41 it ctait P;st.& (-IR 6{1441 6. cll.?. 41-tRtfacK 

4til. 30° 11.04.4l 1'jti.16t-ta duiCi.R.41 C-16116  6. 

(A) 12m (B) 10m (C) 8m (D) 4m 

27. 0 (0, 5) 41. wctr. 0 (0, 3) ;-‘t. ctt.41. 46ii6 

(A) 10 (B) 7 (C) 8 (D) 6 

28. 8 Excrtticautt ,tt[ctdutl-ti. z4s1.3k. 

(A) 8 (B) 16 (C) 256 (D) 64 

29.zZt.& c-ixzi.1?. .1.411.4.14.14R 13 4.41_ t1 a-ft maums EL41.att. ii a-ft coins 4 

(A) 3 (B) 4 -
4 
3 (C) 4 (D) 3 2.3

30.0.25 (4f-3) = 0.05 (10f- 9) att. cU.f = 

(A) 6 (B) 0.06 (C) - 6 (D) 0.6 

31.441 41222 a-outctiutt. za.R.zi.416tiegi 

(A) 42 Ala?. (B) 21 Illaz 

(C) 12 Alaz (D) 24 lazz 

32.z;o z;stAi1. zittet41 Blict 450 4[4241 o.41.. a-it IR 5% GST 

ui NtEt-ft 

(A) 472.50 (B) 427.60 (C) 472.70 (D) 477.20 

['Well 7 1..141. &tlAalt164(ft 968 441.2 a a-ft azti6 

(A) 16 441 (B) 14 41-ft (C) 15 41-a (D)21 alft 

34.( -
5 )-7 

X 8 

(A) ( L6: ) (B) L268 ) 
(D)( 64 ) 25 

35.A XYZ1-ti m Lx : mL y:mZz=1 :2: 3. tXY= 15 att YZ = 

(A) 5.7 (B) 17 (C) 8 (D) 7.5 

36. A ABC m ZA = 90, AD a-ft 6 AD = 6, AB = 10 cit AC = 

(A) 2-J1. (B) 8 (C) 7.5 (D) 16 

PTO 



E 
37. 5 al-O. tt 9 1•1-(1 1to ticwiuk1,4-1.1 ti .4I. aztlIS 6 441 att 

i1.41.3

(A) 3207r (B) 302n- (C) 1517r (D) 987r 

38.4/-2=3 2 = 45 diM= 

(A) 24 (B) 22 (C) 26 (D) 23 

39. 34.4'.1.3t41. Eta-i1z4.141. 1 t Vi2{?.ct1uil. 

(A) 0 (B) 0.2 (C) 1 (D) 0.8 

40. -Ltilim. l 0-1(.444;1 G1:41.6 m. A. 14 al-0. AE-t. 1-1'454 (ft 

441 2 autt. 

(A) 44 (B) 308 (C) 1010 (D) 748 

41.( 715 ) -7x= 9 01'4 

(A)(  ) (B) 

42. 5/6 — — 2-\rf = 

)(=i) (D)(1) 

(A) - 1 (B) 2 (C) 0 (D) 4 

43. A ABC Id LA =LC, AC = 5 zA.,11. BC = 4 at+. AABC 41.14.P.Nct. 

(A) 9 (B) 11 (C) 13 (D) 17 

44. A ABC Ili. P z-A. AB Itu4161& z4.;-1 Qz.A. AC NAN 0, ci.1 PQCB 

(A) 44-ListR.6ucg zi.q,4191. (B) eic4.4sR4 

(C) twic,t tc 1i (D) zoi.qt.% 

45. A PQR ZQ = 90°, PQ = 5 44-0. PR = 13 4111. (11. ar (PQR) = 
4412 

(A) 30 (B) 15 (C) 45 (D) 60 

46. P ctiuu ctdvii. AB CD ))..41-1. wctiz,i1 . LPAB = 40° a ZCPD = 

(A) 90° (B) 110° (C) 100° (D) 105° 

47. 441.q. atqq.lit ABCD, LA = 70° LB +LC = 160° a LB = 

(A) 130° (B) 25° (C) 35° (D) 50° 

48. .1.1-oticg t ii ABCD 41.141.Na 40 441.0 z,tA BD = 16 cii ar (ABCD) = 
44.2 

(A) 48 (B) 96 (C) 24 (D) 72 
49. GIAL6 24 4111. z4;1. 7i.4. 6141.6 25 1..1-11. -9s. ta•-il atizt ft

(A) 14 (B) 12 (C) 7 (D) 49 



50. 3.5 al-0. Dostu. zq..1 6.5 alit 61:41.6 421.gs-1144 -1PutR.i Act likspi.  441,2 

*\9. 

(A) 110 (B) 330 (C) 220 (D) 440 
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B.ED. Examination - SEMESTER - III 

August - 2021 (supplementary) 

B-106 Pedagogy of School Subject - MATHEMATICS 

Time: 2 Hour Total Marks: 50 

> The test comprises of 50 Questions. The questions of this test are of 
multiple-choice type. By selecting the correct option from four 
questions, register your answer at the designated place on the OMR 
sheet by darkening the circle [.] against correct choice. 

1. In a throw of die, the probability of getting the number 8 is 

(A) 1/2 (B) 0 (C) 1/6 (D) 1 

2. Which of the following is a Pythagorean triplet? 

(A) 30, 40, 50 (B) 1,2,3 (C) 16,18,20 (D) 50,51,52 

3. 30% of =336 

(A) 112 (B) 1020 (A) 1120 (D) 11200 

4. Total Surface area of a closed cylinder 

(A) nr(h+r) (B) ar(h+r) (C) r(h+r) (D) n(h+r) 

5.  non-prefect square numbers lie between squares of 26 and 27. 

(A) 11 (B) 12 (C) 50 

6. 268 A is divisible by 3, leaving remainder 0. A = 

(A) 2 (B) 0 (C) 3 (D) 4 

(D) 52 

2x 
7. If ( + 1 = ( 71 + 3 then x = 15 

(A) 90 (B) 10 (C) -10 (D) -90 

8. 
1— cos A 

sin A 

(A) 
sin A 

(B) 
sin A 

1- cos A 1+ cos A 

(C) 
cos A 

(D) 
cos A 

1- cos A 1— cos A 

9. Value of -14- 3 X15  5 7 16 - 47 )  

(A) (B) - 2 (C) 2 (D) 2 



x - 1 is one of the factors of p (x) = 2x + kx + If then k = 

(A) + 2 (B) — (2 + -\/) (C) — 2 + (D) 2 — Arf 

11. (-12) 3 + (7) 3 +(5)3= 

(A) 1620 (B) -1620 (C) 1260 (D) - 1260 

12.  is one of the zeros of the polynomial x3 - 6 x2 + 2 x -12 

(A) - 6 (B) 6 (C) 3 (D) 12 

13. ZACD is an exterior angle of A ABC if LACD = 1100 and LA = 60° 

then LB = 

(A) 50° (B) 60° (C) 120° (D) 30° 

14.The cube of 50 will have zeros. 

(A) one (B) two (C) three (D) four 

15.The compound interest on 20,000 Rs. at 10 % for 2 years is Rs. 

(A) 2000 (B) 24,200 (C) 2400 (D) 4200 

16. To get xyz, we have to subtract xyz from 

(A) xyz (B) 2xyz (C) 0 (D) 1 

17.If a pyramid has a hexagonal base, then the number of vertices is 

(A) 5 (B) 6 (C) 9 (D) 7 

18. In a solid, if F = V = 5, then the number of edges in this shape is 

(C) 12 (D) 14 

is the value of x? 

(A) 8 (B) 10 

19.3,5,9,x are in proportion, what 

(A) 6 (B) 10 

20. Ration of 5 paise and 2 Rs 

(C) 15 (D) 20 

(D) 1: 4 (A) 5 :2 (B) 2: 5 

21.
3x+2 

- 

(C) 1:40 

(C)1 + -i-
3x 

3x 

(A) 2 (B) 3x 

22. (cosec 0 — sin 0)(sec 0 — cos 0)(tan 0 — cot 0) =  

(A) 0 (B) 2 (C) -1 (D) 1 

23.  point is at equal distance from both X-axis and Y - axis. 

pro 



(A) (3,5) (B) (18,1) (C) (2,15) (D) (4,4) 

24. A (0, 0) B (3, 0), C (3, 4) are the vertices of a triangle. 

(A) equilateral (B) right angled 

(C) isosceles (D) acute angled 

25.The value tan20° tan 25° tan 450 tan 65° tan 700 is 

(A) -1 (B) 1 (C)0 (D) 

26. The tops of two poles of height 18m and 12m are connected by a wire 

if the wire makes an angle of measure 300 with horizontal then the 

length of the wire is 

(A) 12m (B) 10m (C) 8m (D) 4m 

27. A chord of® (0, 5) touches ® (0, 3). Therefore, the length of the chord 

(A) 10 (B) 7 (C) 8 (D) 6 

28. The area of the largest triangle inscribed in a semi-circle of radius 8 is 

(A) 8 (B) 16 (C) 256 (D) 64 

29.If parameter of rectangle is 13 cm and breadth is cm then length is 

(A) 3 (B) 4 (C) 4 22 (D) 3 

30.If 0.25 (4f-3) = 0.05 (10f — 9) then f= 

(A) 6 (B) 0.06 (C) - 6 (D) 0.6 

31. If area of square 441m2 then measure of side is 

(A) 42 m (B) 21 m (C) 12 m (D) 24 m 

32.If price of pair of shoes was 450 Rs. in one shop and 5% GST had 

claimed on it then amount of the bill was Rs. 

(A) 472.50 (B) 427.60 (C) 472.70 (D) 

477.20 

33.If a radius of on cylinder is 7 cm and total surface are 968 cm2 then 

height of cylinder will be 

(A) 16 cm (B) 14 cm (C) 15 cm (D)21 cm 



- 

34 (D -7 = 

(B) (C)( ) 

35.InAXYZ,mLx:mLy:m/z=1 :2: 3.IfXY= 15 YZ= 

(A) 5.7 (B) 17 (C) 8 (D) 7.5 

36. If A ABC, m LA = 90, AD is a median. If AD = 6, AB = 10, then AC 

(A)2 (B) 8 (C) 7.5 (D) 16 

37. The radii of a frustum of a cone are 5 cm and 9 cm and height is 6 cm, 

then the volume is cm3

(A) 3207r (B) 3027r (C) 1517r (D) 987r 

38. If - 2 = 3 and + 2 = 45 then M = 

(A) 24 (B) 22 (C) 26 (D) 23 

39. The sum of the probability of all the elementary events of an 

experiment is 

(A) 0 (B) 0.2 (C) 1 (D) 0.8 

40. The diameter and the height of the cylinder are 14cm and 10cm 

respectively 

(A) 44 

then the total surface is cm2

(D) 748 (B) 308 (C) 1010 

41.Ife-5-4 - 7x= 9 thenx= 

(A) ( 1.3 ) (B) (C) ( ) (D) —4-3

42.5\ra— — 2\if = 

(A) - 1 (B) 2 (C) 0 (D) 4 

43. In A ABC, LA =LC, AC = 5 and BC = 4, then the perimeter of AABC 

is 

(A) 9 (B) 11 (C) 13 (D) 17 

44. In A ABC, P is the midpoint of AB and Q is the midpoint of AC, then 

PQCB is a 

(A) Parallelogram (B) Rectangle 

(C) Trapezium (D) Rhombus 

'TO 



45. A PQR LQ = 90°, PQ = 5cm and PR= 13 cm, Then ar (PQR) = 

cm 2 

(A) 30 (B) 15 (C) 45 (D) 60 

46. In a circle with center P, AB and CD are congruent Chords. If LPAB 

=400,

then LCPD = 

(A) 90° (B) 110° (C) 100° (D) 105° 

47. In cyclic quadrilateral ABCD, LA = 70° and LB +LC = 160° Then 

LB= 

(A) 130° (B) 25° (C) 35° (D) 500

48. The perimeter of rhombus ABCD is 40 cm and BD = 16 cm. Then 

ar (ABCD) = cm2

(A) 48 (B) 96 (C) 24 (D) 72 

49. The height of a cone is 24 cm and its slant height is 25 cm. Then its 

diameter 

is cm. 

(A) 14 (B) 12 (C) 7 (D) 49 

50. The total surface area of a closed cylinder with radius 3.5 cm and height 

6.5 cm 

is cm2

(A) 110 (B) 330 (C) 220 (D) 440 
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